Simplification d’Expressions (J)

Simplifiez chaque expression.

. —ay—3+1-"Ty+3y

. 94+1—-2u+4a—+au

. 3y+9by+3y* +y+5y

A +64+14+622+9

=1+ 1+8+24uy

6. 10— 10a + 6 + 24> + 2ax

7. 1—2b+4b>+b — 5b*

8. —2+14+1+a*>+au

9. 80> —y+10b+ 100> + 1

10. =T —1+1+2—1
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Simplification d’Expressions (J) Solutions

Simplifiez chaque expression.

. —ay—3+1-Ty+3y
=—ay—4y—2

.94+ 1—-2u+4a-+au
=au—2u-+4a—+ 10

. 3y+9by +3y* +y+5y
= 9by +3y* + 9y

AP +64+14+622+9
= 4? + 62+ 16

. —14+14+84+24+uv
=uv+10

6. 10 — 10a + 6 +2a* + 2ax
= 24> +2ax—10a+ 16

7.1 =2b+4b*> + b — 5b*
— b —b+1

8. —24+1+1+a>+au
= a* +au

9. 8b* —y+10b+ 106> + 1
= 180> —y+10b+ 1

10, —Tu> —1+142—1
= —Tu*+1
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